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Name________________                                                                                                                                              
Date________________ 

••  AAnnaallooggiieess  22  Level 2  

  

DDiirreeccttiioonnss:: Choose the word on the right 
that best expresses a relationship similar 
to that of the original pair. 
 

 
A rose is a kind of flower. 
A hammer is a kind of tool.  

Example: 

 
  

##))     ROSE :  FLOWER 

HAMMER: 

AA..  car 

BB..  tool 

CC..  computer 

DD..  instrument 

 

22))  WINDOW :  GLASS 

SHIRT : 

AA..  cloth 

BB..  wood 

CC..  plastic 

DD..  metal 
 

33))  HAPPINESS :  EMOTION 

RING : 

AA..  metal 

BB..  food 

CC..  clothing 

DD..  jewelry 
 

44))  BIOLOGY : SCIENCE 

ROCK : 

AA..  food 

BB..  plant 

CC..  dog 

DD..  music 
 

55))  MONEY : BUY 

SOAP : 

AA..  eat 

BB..  wash 

CC..  run 

DD..  shop 
 
 

 
 

 

 
 

 

 
 

 

66))  CONCRETE :  HARD 

ICE : 

AA..  fun 

BB..  easy 

CC..  cold 

DD..  thin 
 

77))  HANDLE : BROOM 

WING : 

AA..  airplane 

BB..  apple 

CC..  cereal 

DD..  mother 
 

88))  SALAD :  VEGETABLES 

BOOK : 

AA..  students 

BB..  pencils 

CC..  computers 

DD..  pages 
 

99))  TENNIS : SPORT 

PAINTING : 

AA..  dance 

BB..  art 

CC..  sculpture 

DD..  game 
 

1100))   DESK : CLASSROOM 

SINK : 

AA..  bedroom  

BB..  kitchen 

CC..  porch 

DD..  attic 

11))  DEAD : ALIVE 

DRY : 

AA..  red 

BB..  wet 

CC..  good 

DD..  sad 
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Answers and Explanations  

 
1) B 
Something that is dead is not alive. Something that is dry is not wet. Therefore (B) is correct. 

  
2) A 
A window is made out of glass. A shirt is made out of cloth. Therefore (A) is correct. 

  
3) D 
Happiness is a type of emotion. A ring is a type of jewelry. Therefore (D) is correct. 

 
4) A 
Biology is a type of science. Bread is a type of food. Therefore (A) is correct. 

 
5) B 

Money is used to buy things. Soap is used to wash things. Therefore (B) is correct. 

  

6) C 

A characteristic of concrete is to be hard. A characteristic of ice is to be cold. Therefore (C) is correct. 

 
7) A 

A handle is part of a broom. A wing is part of an airplane. Therefore (A) is correct. 

  
8) D 

A salad is made up of vegetables. A book is made up of pages. Therefore (D) is correct. 

 
9) B 

Tennis is a type of sport. Painting is a type of art. Therefore (B) is correct. 

  
10) B 
A desk can be found in a classroom. A sink can be found in a kitchen. Therefore (B) is correct. 

 


